ni1z:= Import["D:\\Rescue\\Merken-nbs-mnbs\\Differentialgleichungen\\RLC_Diff_Ein2.jpg"]
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np3= ClearAll[il, fO, Rg, Cc, L1, ue, uc, ergl;

(4= O = 5%73; Rg = 1x"2; Cc = 100%"-9;
Ll=1/ ((2%Pixf0)~2xCc);

ue[t_] :=1;

n7:= erg = DSolve[{uc''[t] +Rg/Llxuc'[t] +uc[t] /L1/Cc-ue[t]/L1/Cc==0, uc'[@] ==0, uc[@] =0}, uc[t], t]

e 5007t (em”Zt 400 — 1% — /400 — 1% Cos H /400 000 000 12 - 1000 000 1* t] 7n51nH /400000 000 12 - 1000 000 * t])

/400 -

out[17]= {{uc[t] -

nfie= uc[t_]1 =uc[t] /. ergll];

n9= Plot[Ccxuc'[t], {t, @, 5/ fO}, AxesOrigin -» {0, @}, GridLines - Automatic,

GridLinesStyle - Directive [Orange, Dashed], PlotLabel - " ", AxeslLabel - {}, PlotStyle » {Thin, Blue}, PlotRange - Full]
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nzo= Plot[uc[t], {t, @, 5/ f@}, AxesOrigin » {@, @}, GridLines - Automatic, GridLinesStyle - Directive [Orange, Dashed],

PlotLabel » " ", AxesLabel - {}, PlotStyle -» {Thin, Blue}, PlotRange - Full]
1.5+
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Out[20]= [
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n21= Plot[Ll*Ccxuc''[t], {t, @, 5/ f@}, AxesOrigin » {@, @}, GridLines - Automatic,

GridLinesStyle - Directive [Orange, Dashed], PlotLabel - " ", AxeslLabel - {}, PlotStyle » {Thin, Blue}, PlotRange - Full]
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2= Plot[Rg * Cc xuc'[t], {t, @, 5/ fO}, AxesOrigin » {@, @}, GridLines - Automatic,

GridLinesStyle - Directive [Orange, Dashed], PlotLabel -» " ", AxeslLabel - {}, PlotStyle » {Thin, Blue}, PlotRange - Full]
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